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QUESTION 1

U+ bank wants to offer a Gold Credit Card to its customers who have an annual income of more than USD 150000. As a
Strategy Designer, how do you implement this requirement in the decision strategy?

A. Create a When rule in the strategy

B. Add a proposition filter at the proposition level
C. Add a set property in the strategy

D. Create a When rule in the customer class

Correct Answer: D

QUESTION 2

A Text Analyzer performs natural language processing on a piece of text. It then produces a structured output, which
can be analyzed using reports. What type of text analysis does the text analyzer perform?

A. Entity extraction

B. Word analysis

C. Word count

D. Cross reference analysis
Correct Answer: A

Reference: https://community.pega.com/knowledgebase/articles/machine-learning-models-text-analytics

QUESTION 3

The number of results returned by an Interaction History component can be narrowed down based on

A. the customer lifetime value

B. the age of the customer

C. atime period

D. the total count of propositions in a given channel

Correct Answer: C

QUESTION 4
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The Prioritize component sorts offers in

A. ascending order only

B. descending order only

C. random order

D. ascending or descending order

Correct Answer: D

QUESTION 5

Two results of an adaptive model are

A. Priority and Evidence

B. Propensity and Rank

C. Priority and Propensity

D. Propensity and Performance
Correct Answer: D

Reference: https://community.pega.com/knowledgebase/training-adaptive-models-bulk-data-flows
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